
 
 

 

 

 

 

 
 

 

 

 

 

D

C

G

B

A

D

E

 
 

 

  
 

 

H1

H3

H5

H3
H4

H2

      

 F

                                           

H6

OVERALL INSTALLATION Start  (A+B)
then +(C+D+E)
then + F+G

Back Panel x 1

Premium Papasan Chair With 48’’ CushionContact@idvie.com

PREMIUM PAPASAN CHAIR
WITH 48" CUSHION

Papasan Chair by theVIEs

"Relax Every Moment, Elevate Your Style."

For any inquiries or 24/7 installation support,
please contact us at Contact@theVIEs.com
 We guarantee a response within 24 hours.

This is a one-page installation guide.
If you successfully complete the assembly
within 10 minutes on your first attempt
without referring to the detailed pages,
record a video and send it to us,
we’ll reward you with a special gift!

Thick Cushion  x 1

Side Panels -

Left, Right x 2

Cushion 
Support Pad x 1

Seat Panel  x 1

Bottom Frame x 1

H1- Short Bolt

H2- Long Bolt

H5- Leveler

H3- Washer

H4- Nut

H6- Lock Nut

Swivel Plate 360 x 1

Premium Papasan Chair With 48” CushionContact@theVIEs.com



  

 
 

 
 
 
 
 

 
 

     
 
 
 
 
 

 
 
 
 
 

 
 
 

 

                 

             Contact@idvie.com 

                 

X 9

X 9

X 17

X 17 X 8

X 9
Premium Papasan Chair

 

 
 

PARTS INCLUDED

X Xı12

HARDWARE LIST

With 48’’ Cushion

(A) Bottom Frame x 1 (B) Swivel Plate 360 x 1 (C) Seat Panel  x 1 (D) Side Panels-
Left, Right x 2

(E) Back Panel x 1 (F) Cushion Support Pad x 1
(special gift for you)

(G) Thick Cushion  x 1 Tools provided

H1 - Short Bolt (M6 × 15)

× 8 pcs

+ 1 extra for spare

H2 - Long Bolt (M6 × 45)

× 8 pcs

+ 1 extra for spare

H3 - Washer (M6)

× 16 pcs

+ 1extra for spare

H4 - Nut (M6)
× 8 pcs

+ 9 extra for spare

H5 - Adjustable Leveler Feet
(Threaded, M6 × 30)

× 6 pcs
+ 2 extra for spare

H6 - Lock Nut (M6)
× 8 pcs

+ 1extra for spare

Premium Papasan Chair With 48” Cushion Contact@theVIEs.com



  

       

H1

H3

B

A

H1 H3 H2        H3

1

H4

C

D

D

    

D

E

D

H4
H6

               
                

H6 H2        H3 H4 H6

H4H2 H3 H6

             Contact@idvie.com 

H2

ı     
 ı ı 

Tips:

 H3 Usage: H3 (Washers) are crucial for both H1 (Short Bolts) and H2 (Long Bolts). 
Always position H3 (Washers) before inserting H1 or H2 to ensure long-term durability.

 H4 & H6 Usage: Use H4 for pre-positioning, as it can be quickly adjusted by hand. Then, 
secure and tighten H2 using H6 to reinforce the structure and enhance stability.

Premium Papasan Chair With 48’’ Cushion

DETAILED INSTALLATION INSTRUCTION

Installation Time: 10-15 Minutes by Follow the Steps Below

Step 1: Attach (B) Swivel Plate to (A)
Bottom Frame using 4 × H1 (Short Bolts).

Step 2: Attach 2 ( D) Side Panels- Left &
Right to both sides of (C) Seat Panel using
4 x H2 (Long Bolts).

Step 3:
Attach (E) Back Panel to the rear of (D) Side
Panels using 4 x H2 (Long Bolts)
to complete the Top Frame.

H3

Premium Papasan Chair With 48” Cushion Contact@theVIEs.com



 onto 

  

      Contact@idvie.com 

5 6

9

H1
H3

H5    X 6

F

7 8

G

    Premium Papasan Chair With 48’ Cushion’

DETAILED INSTALLATION INSTRUCTION

Final and most important step:
Sit back, relax and enjoy your new chair!

 We’d love to hear your feedback, so don’t forget to leave us a review! 

Step 4: Connect the Bottom Frame to 
the Top Frame using the remaining 4 × H1
(Short Bolts).

Step 5: Complete the full frame assembly 
by attaching 6 x H5 (Adjustable Leveler 
Feet)  to the bottom for stability.

Step 6: Turn the chair upright
and place (F) Cushion Support Pad
the seat panel.

Step 7:
Place (G) Thick Cushion onto the chair.

Step 8: Secure(G) on the 2nd row using 
the Velcro straps located at the cushion.

Premium Papasan Chair With 48” Cushion Contact@theVIEs.com


